Hfamem 10 e - /A No. 3 (2019/10/10)

1. X 288, 0 %2 X OWNEEHEELTS. O X OMMHTHEZLDEHEE B L.

(T1) 0, X € O.
(TQ) O1,0Q€O:>01HOQEO.

(T3) Oxe O (AeA) = JOye0.
AEA
2. X :={1,2,3} U, X OHDELEE O %
O :={0,{1},{2,3},{1,2,3}}
TEDD.
(1) O BRMDOERD (T2), TibL, “BEA L AES OB IIBHES 21
T ERE. (REAVTHILTS L)

EBA : [ﬂ—?TZt:Ol,OQEOiOlﬂOQEO.]
01,0, €0 95 BLEET O, N0, ZRDB L

(0000, 0 [ () (@3] X |
0 0 0 0 0
{1} 0 {1} 0 {1}
{2,3} 0 0 {2,3} | {2,3}
X o | {1y {23y ] X

ERD, VWTNDIHES O,N0y € O MDD,

(2) X OFSESHET, T(T1), (T2) dm=$H (T3) dmzI ] K5 74plz
1 %2 k. (FEHARE)

R 2 {0, {1}, {2}, {3}, X}

THEERT K4




